PEDIGREES!

What are they & how are they used?

Pedigrees are genetic ______ that are vsed to track

Label this
pedigree 1o
show what
each part

specific Traifsina ______, for example genetic
__________ They can be used to work out the
___________ of future offspring having the disorder- A

The roman numerals /_\ A line
showthe shows that the joined

I that each row of ______ O people are ________.
™— belongs o.Eg. IT = the
______ generation. | 2 A ________lne
| | followed by more
/> C) _________ lines
indicates ________
Circles repreiﬁﬁr l ) 3 y offspring,
_______ while

squares represent | Shading shows
______ the
N> of a specific _____.
| v 2 v 3 See the key below.

These individuals are These individuals are

Unaffected: Thisis when a
person does not have a _______
disorder ¢ hasno _______ for it

Cdrrier: This is when a person
has ___ genetic disorder allele.

They _— ___ have the disorder.

Affected: This is when a person
\has got the genetic ________. \

00O
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ROBLEM 19¢
RBC

> Sickle cell anemia is @ genetic disorder of the blood.

The pedigree below shows its inheritance in one family.

1. What is the relationship
between 1I-1 and 11-2?
| 2 3 4
I 2. How many children do
II I-3 and I-4 have?
1 2 3 3. Is sickle cell anemia

| | dominant or recessive?

111 Qi AO Explain how you know.
1 v ; ; V"

4. I111-1 and III-2 are having a baby. 5. III-3 and I1I-4 are also having

Work out the probability of it a baby. Work out the probability
having sickle cell anemia. of it having sickle cell anemia.
Use +he . Individval I1I-1 ,:"“Use +he’"x_ Individval I11-3
* letter " . Genatype: __ : lefter «a - Genctype: __

 To represent  To represent
. the disease - . The disease ;
.’w...a”el?_,.v" ~. alele. .-

Individval I11-2
Individval I11-4

Gendtype: __

o

* Star any offspring that would have the disease ™ 27

Probability of the child Probability of the child
having sickle cell anemia: having sickle cell anemia:
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% PROBLEM Z

>Po|ydactyly is @ genetic disorder that causes extra dngrl-s{

The pedigree below shows its inheritance in one family

1. Who is 11I1-2’s maternal
grandfather?

1 2 3 4
' | 2. What is the relationship
II O between III-1 and I1-3?
1 2 3
| 3. How many people in
the third generation have
III Polydactyly?
1 2 3
4. Is Polydactyly a dominant or 5. II-1 and II-2 are having a new
recessive disorder? Use evidence baby. Work out the probability
from the pedigree 16 support of it having Polydactyly.
your answer.
Use the . Individval II-1
letter D Genatype: __

+o represen :

- the dlsease
allelg

Individval 11-2
Gendtype: __

3

*
Star any possible offspring with polvdactyly

Probability of the child
having Polydactyly:
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VOUR TURNY

Design a pedigree that shows the inheritance of a
new - SUPERPOWER = ! Here’s what you need 1o include:

Description/doodie

Is it dominant
of superpower:

or recessive?

Pick d letter to
represent the
superpower dllele:
T s dominant,
remember ‘i’i?l\/e it

a capifal letter!

= Superpower

= normal

at di in this space! ( )
Create your pedigree in this space QUESTIONS!

Write at least 3 questions,
g answers incluj?n one
Punnett Square q)ues?rion, to
\check your pedigree wov‘ksl)

I ~

—

Individual
Genotype: __

OO

= *Star any

-9 possible
S % offspring
S S with
'g 3 super—
- powers!

Probability of the child

having a superpower:
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